Appendix S-1 – Key Concepts and Labor Forecasting Model

1)
Key Concepts: 


(a)
Definition of Productivity:  How much net revenue is earned per one labor hour?


Measurement in dollars based on how effective your labor productivity is compared to your net revenue.


Productivity = Net Revenue divided by Labor Hours.


(b)
How to increase Productivity



Increase Net Revenue:  Increased programming and up-selling.



Control Labor Hours:  Effective staffing and scheduling based on forecasted customer count and sales.


(c)
Calculation Example:


Total Net Revenue for the month of November:  $123,036 (from Financial Statement). 



Total Productive Hours for the month of November:  2,576 hours (from TLMS productive hours report).



123,036 /2,576 hours = $47.76 per labor hour.



The facility earned $47.76 net revenue per one labor hour in November. 

2)
Definitions: 


(a)
Productive Hour:  Any hour worked by an employee to include any overtime worked hours.  Sick and annual leave do not create units of production and those hours are deducted from paid hours to reach this number. 


(b)
Cost Per Productive Hour:  Total payroll cost, including all regular pay, premium pay and all benefits divided by productive hours. 


(c)
Net Revenue Per Productive Hour:  Net Revenue divided by productive hours. 


(d)
Net Revenue:  Total Income from operations to include sales and other operating income minus UFM. 


(e)
Cost of Goods Sold and Cost of Goods %:  Actual cost of products sold divided by sales.  Percentage gives a better picture than dollar amount.  Only takes into account the cost associated with sales and does not include membership dues, rental and usage fees, etc. 


(f)
Labor %:  Actual Labor expense divided by net revenue.

(g)
Other Operating Expenses %:  Actual other operating expenses divided by net revenue.

 (h)
Net Income Before Depreciation (NIBD) % formulas:


1.
Net Income Before Depreciation $ = Net Revenue minus Cost of Goods minus
Labor Cost minus Other Operating Expense.


2.
Net Income Before Depreciation % = Net Income Before Depreciation $ divided by Net Revenue.

3)
How to forecast productive hours:  


(a)
In order to forecast productive hours, the net revenue needs to be forecasted first.  Based on the historical data, current operational status, current trends, and the budget, the net revenue should be projected:  forecasted customer count multiplied by the amount of Average Guest Check of the same period of last year.  


(b)
Based on the forecasted net revenue, allowable labor cost should be calculated.  Allowable labor cost indicates that the desired amount of labor cost for the time period in order to meet the desired Net Income Before Depreciation.


(c)
To calculate allowable labor cost, the following information is required. 



1.
Forecasting Net Revenue.


2.
Desired % of Net Income Before Depreciation from budget.


3.
Year To Date Cost of Goods Sold % and Year to Date Other Operating Expenses % from current financial statement.


4.
Cost per Productive Hour. 

4)
The following calculation shows you how to calculate “Forecasted Labor Cost if forecasted net revenue is $100,000, Cost Of Goods is 35%, Other Operating Expense is 7% and the desired Net Income Before Depreciation is 10%. 
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100%Revenue$100,000

35%Cost of Goods Sold$35,000

48%Payroll Cost (Labor)$48,000

7%Other Operating Expenses$7,000

10%Net Income Before Depreciation (NIBD)$10,000

Average Cost of Labor$20

Allowable Hours of Labor2,400

NAF Labor Cost Control

Labor cost $48K divided by average cost of labor per hour of $20.00 =  allowable hours of labor 

to achieve NIBD of $10K with $100K Revenue, which is 2,400 hours 


5)
Using the allowable labor cost, projected total productive hours projected to be spent for the month can be calculated.  A projected total productive hour is allowable labor cost divided by cost per productive hour.  The total productive hours represents the total labor hours that management should schedule for employees for the month.  Effective staffing and scheduling based on forecasted total productive hours is the key to meet the desired Net Income Before Depreciation.
6)
The below chart shows the importance of “Productivity”


For example, in April, if labor hours were reduced to 1,875 from 1,904; the productivity would be $39.99 causing the club to break-even instead of losing $653 or -1%.
	
	Sample of Productivity Calculation 
	If labor hours 1,875 hours

	 
	Nov
	Dec
	Jan
	Feb
	Mar
	April
	April

	Net Revenue
	 $         123,036 
	 $         196,445 
	 $            77,301 
	 $            83,236 
	 $         131,700 
	 $            74,973 
	 $                   74,973 

	 
	 
	 
	 
	 
	 
	 
	 

	COGS:    30%
	 $            36,911 
	 $            58,934 
	 $            23,190 
	 $            24,971 
	 $            39,510 
	 $            22,492 
	 $                   22,492 

	OOE:      15%
	 $            18,455 
	 $            29,467 
	 $            11,595 
	 $            12,485 
	 $            19,755 
	 $            11,246 
	 $                   11,246 

	Labor Cost 
	 $            56,672 
	 $            69,630 
	 $            53,042 
	 $            47,542 
	 $            55,660 
	 $            41,888 
	 $                   41,250 

	Labor Cost %
	46%
	35%
	69%
	57%
	42%
	56%
	55%

	 
	 
	 
	 
	 
	 
	 
	 

	NIBD
	 $            10,998 
	 $            38,415 
	 $         (10,526)
	 $            (1,762)
	 $            16,775 
	 $               (653)
	 $                         (15)

	NIBD %
	9%
	20%
	-14%
	-2%
	13%
	-1%
	0%

	 
	 
	 
	 
	 
	 
	 
	 

	Labor Hours
	2,576 
	3,165 
	2,411 
	2,161 
	2,530 
	1,904 
	1,875 

	 
	 
	 
	 
	 
	 
	 
	 

	Productivity
	 $              47.76 
	 $              62.07 
	 $              32.06 
	 $              38.52 
	 $              52.06 
	 $              39.38 
	 $                      39.99 
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